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.o+ 3 Hours
e Marks : 200
Instr uetion :
() IfaCh./qu;Stlon carries one mark.
08 BDD 28 Soety geress.
.y Choose the : ,
(i) questions an(;lofirect or m.ost appropriate answer from the given options to the following
i+ W eircle pe?trk'el-l’ with blue/black ball point pen, the corresponding digit 1,2,3o0r4
aining t : in the :
separately supplied togy oz-the question number concemed in the OMR Answer Sheet,
K38 AN D8 (%
Zo@ 192 33 ag’i 3@%150 RDAS FES $0GS SITFTIS0K AYHED A BorDoB
= é.‘.’:éé,a ;D,/wg QO 2d\S OMR S8 HSINS* [HF) Sowgho o fie Howo e
> n/eLS w8 Fonods L) &R TR0D VoDIB.
|. A person gives 47-1.0 - 1
; p 5 7o of his property to the clder son, 325% to the younger son, 5% to
a temple and the balance of Rs. 6 lakhs to his daughter. The share of the younger son
(in lakhs of rupees) is
_ ] 1
28 558 88 BRS' 472 % g Sosrws, 32 % 0%) SoIriS, 5% 28 Broosrds
an) DAOS &7, 6 v H5rpFH . AF) HIrdr T (0o Srarofds?)
(1) 2 (2) 6 (3) 13 @) 15
9 If25% of a number is added to another number then the second number is increased by
10%. The ratio of the first number to the second is
28 Dopges® 25% S05°€ Dopg EOVB ©Iyh & Bod® Dopg 10% D0, 0K
Sopgsd BokS Hopgsd RL]
() 1:2 2) 21 @) 25 “) 52
3. Apersonspends 80% of his monthly salary. His salary was increased by 20%. He increased
his expenditure also by 20%. Then, the percentage increase in his savings is
28 358 08D Jo E$o 80% 8 DESTE. ©eA8 I8 £do 20% A0S, wEt $I
PENSO S ds 20% 3503,5 S, VI VED srFh @&uyﬁ‘ 28K%80 eSS0
(1) 15 @ 20 @) 25 4) 30
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A class has two sections A and 1 having 60 and 40 students respectively, 1045%% of the

§ Vs . ' i q -
section Aand S5% o the seetion I3 pass inan examination then the pass percentage of the
(o sections together iy

- i . . g o of » ” ;
L S0850G°Q Vol WG A, I3 od* Sdisn 60, 40 Siul NG J,u;;:}‘jj. b S04S°
- o 4 " - s b= -t » L ’ #
A d&ﬁju 45 £ 0, 13 ?f:'fl)t)‘ 5§8% Jo° gu.)c,u tu’ltﬂt}:‘, 0 Bods WEGwst 505 % 'ja il
- el - ‘

e ——

w9 2) §2 (3) 54 M; 37

To pass an examination a student has to secure 45% of marks. A boy getting 295 marks
fails by 20 marks. The maximum marks for the examination is

o8 H08S* ﬁgp:t‘.f;i's_ :Jc‘gg 45% SrE,05 Foddon wol. ")‘i .u-p‘J o SO0 o8 IS0
20 Srdooo S0 HOE Sy, o5 BOEKS KOG Sy w0
(1) 730 _92'; 700 (3) 650 - (4) 600

In a fraction if the numerator is increased by 23% and the denominator is decreased by

32% we get new fraction — . Then sum of the new fraction and the oniginal fraction is

17

. 13
%8 D" L) 23 Tdo Lol FoY) 32 Tdo iy Sty 88 Ddyo 17 vivdo & 59

2)530, LR i):fg_ov Swdo

2348 2834 2483 2384
2109 @) 3190 ) Z001 () wm

(1)

" The total number of students in a class, with 44 girls and the rest 45% bow. s

44 &O& z:*aﬁm, D00S 45% B008 wrendd ¢&) S8 Jgo ITFHo Long
(1) 85 | 12) 80 3) 76 M

7 e e et g e

There are 60 students in a class, One of the students weighing 40 Ky was rcpls\ud by
znother student, Now, the average weight of the students increases by 0.2 k. The weight

-of the new student is (in kg)

28 BERBS* 60 500 DEEILY By, Hoe* 40 B rIne vdHYo 8 ITY B
o6 B4 Sorgg © B0K06G" BOT:, alyes b Sk 9 0.2 B rinem S5} wondb.
© £G Dogh whl, PO, ‘

1y 48 A sz 3 sS4 . @ 56

R, TS
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9, The AYeTage of 40 numbers is 35. If two numbers 44, 45 are discarded, then the average
of the Femaining nymbers is

40 BoBEO Bty 35, i3es® Bosts Sopgen 44,45 SONY ADS Somge BN

(1) 33.5 (2) 34 £5) 34.25 (4) 34.5
—_— e

10. Ther Eare 4 numbers, The average of first three numbers is 56 and the average of the lasg s
three is 49. If the first number is 48, then the last number is1

4 Romgoon. SES* Aas Surds Somge DD 56 20 058 Kurdd SoPge
Rfitn 49, 8BS Jnsee Qowg 48 wowd D36 Jomg

(1) 40 (2) 55 (3) 39 w0 27

I1. Two persons A and B started a company with capitalS Th the ratio 7:8. At the end of the
business A and B shared the profit in the ratio 5:4. If A kept his capital for 10 months,
then the number of months that B kept his capital is

A 205 B o 986k Sggoen 7:8 OQET” Dewd 1Y 28 §01AY |FEodomrss.
Tgrorodods” SNS erginds A, B e 5:4 NQPS” Do, A 5 Dén2dd
10 3ven &0od8, B &5 Denwdd ¢ods Jve Somg

() 9 2y 1 (3) 6 @) 5

[2.  Inapartnership A, B, C invest capitals in the ratio 3:5:7. If at the end of the year,llt_he 'tota__l
profit is Rs. 90,000, then the difference between the profits of A and C, in rupees, is
w8 ariidglogoes® A, B, C e0:3:5:7 IES* eynd irh. SoSorodos® Bndo erso
& -92},000. wond A, Co erere g Bto, Srdrahest,
(B 24000 (2) 18000 (3) 12000 (4) 9000

3. A,B,C stancd.a business with capitals in the ratio 4:5:6 which are kept for 16 mo’hths,
12, months, § months respectively. f“ the end of the business, if B’s share in the ey
Rs. 1.35 060 then the total profit, in rupees, is ;
A B, C o g ag00S’ 456 3BT Bignes swimr 16 3oen, 12 o,

8 Jven som. sosdoroded” oTEod] B 0 Firm &r. 1,35,000 §3 Iwdo ergo,

& roeest, - s / .
2) 3470 B) 3,67,000 4) 3,87,000
LI 3,00,000/&1%“
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A, B enter a business with capitals Rs. 3 lakhs and Rs. 4 lakhs respectively. At the end of

the year A receives monthly salary for looking after accounts. At the end of the year
A and B receive their shares respectively cqual to the amounts when the total profit of

Rs. 1,96000 is divided in the ratio 4:3. Then A’s monthly salary in rupees, is
A, Beo S63m &r, 3 o, 8. 4 vfed DERatiod’ 68 TgPdo @fodomt. grerold
SrRS0tE SoSdcrodost A Jedd %S0 BoKo0trdh. Sodd)Trogoes® SDS Invdo

ergfo & 1,96,000 o& 4:3 9%)8S° DefRoDBHYE $T) Iveok S6Hdm A, Beo 08
T WoEIT. WY A BnE), 038 £do, Erroded’,

2
= . (4) 4500

3) 42
(3) 427173

I
4015 —
97 (2) 40837

135,

Two persons A and B enter into a business with capitals in the ratio 4:5. At the end of
5 months A withdraws from the business. At the end of the business, if they shared the
profit in the ratio 1:6, then the number of months B’s capital was used in the business is

256 Sg8en A, B e 4:5 3385 Dipadhod wf TgPro) @dofowrd. S Ive
S8 Aag>o Sood SJySoayid. Tg>Eo DEES ererd) T8 1:6 0 8s” H0t5H%008,

ea;'%acﬁo B 88 épad argirdoej‘ o0 Jve Jdopg
4) 16

16.

#) 24 @) 18 G) 12
1
— of the amount, B

A certain amount#s divided, among three persons A, B and C.'A gets p

1 - _
gets — of the amount atxd C gets the remaining amount. If C gets Rs. 2800/- then A gets

E 1
;.’mﬁ‘,;da Sg8oen A, B, C 05 af &80 HodTd. & B0y’ 7 erfio AS, 1 2o

B8, 500 arsony C8 e C8 SO ooy 6. 2800/- wod, A8 S8 sy
(y o0, (2 oo . . (3) 1100 4 1200

)

‘i

S Toag T B et o syl e S
' 3) 003 4) 0.003

(1) 303 (2) 03

18.

The meés _charges" for42 students for 28 days is Rs. 47,040. Then the mess charges for
35 students for S’ZSfdéyS; 111 rupecs, is equal to o N |
42 5308 awgc;guéa 28 Sarod 2D '@age;; 47,040 &1 w008, 35 $08 dorged

25 ek wdlg SV "Q‘Q:@', ErFofoees®, B )
(1) 37,250 (2) 35,000 -~ (3) 32,250 (4) 30,000
6-C
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y + “, 2_\‘ = 3,]’ = X+ ¥ 3

19.
Xy
= 3
L @ 3 (B (1) -5
e ———————— i e ——i——
20. A person P Started business with some capital and another person Q joinced him four
months later Investing 60% more than the investment of P IF Q gets Rs. 5000/- more
profit than Pat the end of the year then the profit of P’ (in rupees) is
§od DERDEE* P P S8 Fgrdo @FoDodm doed T Joesd Q wd 558
Poiged 808 60% 8y 8 binwds sgddod’ Bord. Sosdioodos’ P Eed Q8
g 5000/- 98,8 ergfo 5% wiyds P g, ordo (Erdahe?)
(1) 55,000 2) 60,000 (3) 65,000 4y 75,000
21, Ifa:b=1:2, bie=3:5, c:d =5:4 and e:d = 5:6 then a:b:c:d:e =
a:b=1:2, b:c=3:5, c:d = 5:4 50050 e:d = 5:6 wond a:b:c:d:e =
(1) 3:6:10:8:7 2y 9:18:30:24:20
(3) 15:30:50:40:48 4) 1:2:3:4:5
22. Ifthe average age of three persons is 20 years and the ages arc in the ratio 2:3:5, then the

<&, 50,000/ 03

By 20 -
o _-—-’———__——_,_——‘—:-’__‘"_‘\L

age (in years) of the youngest among them is 6o

Sofdhd Sggoe 50700 Sa%odyy 20 Soddoren, 570 ScHdye ARG 2:3:5 vond VS
©Q) D) Sadyre S8 $50%0%9) (SoSdyore’)

) 12 (2) 18 .(3) 10 @) 8

In a joint business A invested thrice that of B and the period of investment of A is
twice that of B. If the share of B in the profit is Rs, 40,000/~ and if A donates a sum of
Rs. 50,000/~ to a trust from his share then the amount left with A in the profit (in lakhs of

rupees) is

2§ &30)6 ;}”35‘505‘ A—‘J"é‘ae‘)&’ B’c':.jé.}_gaa&g Sordodenotar, ADERRd oo Bined
08 Bogogen $0B. TETTOE THOS B iz g, 40,000/ won, A S Frirest
L& gk R0 IR, ot AR punds adwy (Rf0 Erdrahe?)

oy S R - % ¥ 4) 1.5
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A person A purchased a watch for Rs. 4800 and sold it {o IW 8% profit. B sold it to
C for 12% loss. The amount paid by C. corrected to nearest rupec, is

Aol o8 38 s 8&aSro) 4800 81 50 Q) B od 5588 8 rdo orwrdlb wlayd.
TR B, 12780 S308 C8 winyerdd. C BYodS Sy, $u3 drdond 53568,

(1) 4784 @) 4691 |

3y 4562 (4) 4448

—

25. 1f 175 workers can dig a canal of 3150 m long in 36 days, then the number of workers
required to dig a similar canal of 3900 m long in 24 days is
175 %008 $A37% 3150 Hobog E9F) sendS 36 Swd! s5510nd, winSesd
3900 o8 SEHI) eSS 24 Sard S8 5SS HAT0 Sopy .
(1).. 275 (2) 300
3y 325 4) 350

26. If a train runs at a speed of 40 kmph reaches its destination late by 11 minutes but if it
runs at a speed of 50 kmph it is late by 5 minutes only. Then the distance travelled by the
train, in kilometers, is
2.6 Bexn Kook 40 8.2, 3o’ Bosred D 85 fSrgd) 11 ddndren sodgor Dhsolucd.
52 Kot 50 8.5, 3Kos’ PodrdSy 8 KSrgl) S5 ASwaren SrEd sodzomr
Brgoonod. wHYE Deo P30S drdo, 35 bdes”,
&) 20 (2) 30
(3) 40 | (4) 50

27. The following table shows the marks of the 20 students of a class in Mathematics. Then

the average mark of these 20 students is

Marks

80

85

90

95

100

No. of students

2

4

7

4

3

2§ S6£06°D 20 $08 DTERY Kedgrgos' IS Srdyee BLI IFPEST s
& 20 508 dEgRe Hieo Srdy,

Sy 0 | 80 85 90 95 100
Dorgfe dopg 2 4 7 4 3
(1) 89.5 (2) 90 &) 90.5 (4) 91 P

8-C
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An article h; ; : e
i each ins‘t:ag lgfmf‘“.l‘m price Rs. 3600. By giving two successive discounts of 10%
i giving a discount of 20% on the marked price, the gain of the trader,
28 3T o
s %:f BEBS 55 3600 i, D 20% BOLVE oL 10% a3 Tod S0P
83,083 XG0 Troe HBKIE 38y oo, Srododt,
,__-——Q)— i 2) 24 "13) 36 4) 54
o —-— [T & ¥
29. The average of the least and greatest fractions among 363 i—i is
110557843
g OF 893 Modako fog Ao i
ol 41 51 4l
) — Bt = —
M %o & 48 ®) 30 @ 7
30. Ifaand b are positive integers such that bh< 100 and 72.48 = a[24+£6) thena+ b=
33 JrgosTen 4, b e, b < 100 58050 72.48=a[24+1—g—oj &gt o8 wiydd
at+b=
(1 15 @) L 3) 19 4) 21
31. The ereatest five digit number which is a perfect square is
ﬂ)a:)ééd&’}n @Cﬁ_)g @98'-;363 @OOD(ﬁJ &9(_)@?.} éoms
(1) =9:2856 (2) -29225 : (3) 26721 4) _93025
v Bt
0. 162+ 172+ 187+ 30.= | e ”
1) 6215 @) 7725 - 3) 8215 (4) 9535
33 A B and D canrun around a track in 24, 48, 60 and 96 scconds respectively.
- Eourpersansdes };t apoint P on the track simultancously. When they meet at P again for
All of them staﬁthe qumber of rounds made by C-is
t ime
b SEERLMIE \ B, C, Do o 7F Sy 5esm 24,48 60,9680 SRR,
Senrrd Sg8aen O; D notdd P3G 8008 HeoK @v’doﬂow&. 80N S*8oddr P&

3 1, 5@ R0 N oy

FEo&Sr DEs° D0 5B C B0 B8 Bomg

O 12 S e T
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34. Ifnisany odd integer “mer than 1 then the largest natual number amony 1|m tollowiny

that certainly divides n(n” - l)
= ‘:‘RH"{H"“ '\\ AR ® i t

ne38 1 508 DEBN I3 Ddong vand Sod S pte==) 2 pf)dont wrioil
eEDZ Nowg
L 24 JAARERI RRY (H) 48

33, The total number of divisors of 2°3*5% {s (including 1 and the number given)
2’375 &), wrase (FIwrosty) Sogpg (1 Ho0a aQS Soggd Saope)
(1) 60 (2) X0 ) 100 £ 120

36. Two positive integers x. v have their gead =12 and Lea, = SISy ¢ 12, thena by =
Bod SRyTosTen X, ro A = 12, SN = SIHL 0> 12 soxd, oyl v ke
(1) 744 (2) 684 3) Slo ) 420

37. The traffic lights at three different road crossings respeetively change alter every

435 seconds, 75 seconds and 100 seconds. Ifall the traflic lights change simultancously at
9:25:00 hours. then the time at which the lights again change stmultancously

s 3o 55 $odde 3§ WDE Dy SNIw 45 DEY. T3 DEY ook
ﬁ)ﬁ e Sedeton. v EreS S ::éa"s 9:25:00 Sobesh J0d, ©d o
a:%#t} 33 JFooNn

(1) 10:03:00 (2) 9:30:00 £ 9:0:00 (H 9dOS

38.

]

“L.C.M. of two prime numbers @ and b, (a > b) is 319 Then, a—-2b=

Jocks warag Sopgeo, a HBaS b, (@>b) o L0 Y. ey a- b =

--(1)- -8 @ 9 3) 8 PO

The least number which when divided by the numbers 12, 16, 20, 23 leaves - as remainder

'but when divided by 7 leaves no remainder is
:-’:o:pgoa 12, 16, 20, 25 o3 Hod8dydy Hadw 4 Qodan 73 erhoddy W
SKom $038, $8IN) JoV§

(l) 14006 2) "‘1'3?&1’13 . (3) -Sap - (D FRINY

e et ) . 58

h s

10-C



>

FRESHERS NOW

AR-2 Booklet Code : C

Toe s of o Timmdars is 123, Their H.C.F. and L.C.M. are respectively 25 and 150.
S1s

T

s ST St 3z _ ) — - " 20 e5590%s

(e o, - ! ‘ — = - T —— A ) O
30 2T S50 115 8 ia o Songds §.500 0 383 25 Hdose 150.€ ¥

-
5

o e o e
€ Mlmi— e e =L w
- et ot St B2 oD

zscn P sellsanamicleto Qata profit of 3%: Q sells it to another person R at a profit
R selis it another person S for Rs. 46305 by making a profit of 5%. Then the

cost price of the article (in Rs.) for the first person 1s
Pt £ 28 335 Q5 3% ond ey Qv 3PS RE 5% owRs SEpIal
—o Rt = 26305/ £ SE e 3% =So Tomrd. u SHDD SodS 558 £5)
58 (S ehd)
(1) 33000 (2) 39000
£3  1a 2 school. the ratio of the number of boys and girls is 3:2. If 30% of the boys and 20%
T s ;.._, < are scholarship holders, then the percentage of students that do not get
:::‘31‘—:.’-?:5‘,:-'; is
Lf foe et oo $BES —ofs ID8 32 eodods’ 30% 0088, Td50s” 20%
‘o nE = oEnE SoB, igo5uD U 2TiGe vEkn -
1y 80 ) 2) 74 (3) 20 @4 26
3 2 - e =
_—-—-_’—-—'--'_—__‘___ - -
<3 coins of Rs. 5/- denomination, n coins of Rs. 2/- denomination and
Rl g mdcnommanon whose total value is Rs. 630/-. If m:n:p =2:3:5 then the
p coins of Rs. 1/ £Rs. 5/-, Rs. 2/- and Rs. 1/- denomination coins in the bag is
ratig of the total values ©
s SAO e m, E 2/- DexsSKer oBex noBS® & 1/- dendide
1.8 = G l_“:"' “- 5 g
v ST A ;3;::-:.': & 630/~ eax &5H8. mnp= =2:3:5 wond & 5/-,
T3z p &scd, &8 =
e 2, g V- Y P2 .
' @) 5:6:10 (3) 10:5:6 4 10:6:5
(1) 6:5:10 = .

o . 11-C
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44. Ifx:y:z=7:8:9, then e : hd ; 2=
Yy z X
x:y:z="7:8:9 wong, -@‘:de; £;£:£=
y z X

(1) 72:63:56 (2) 56:63:72

(3) 648:448:44] 4 441:448: 648
45. x,y,zarc positive integers such that x*> +* + 2 =8072. If x;y = y:z=3:2, then y =

(al) f.grc;os*m X, ), z e, v+ y3 + 22 = 8072 @ﬁ:g&nﬁ@m, tn=yz=32 oNd

vyl y=

(1) 18 £) 12 (3) 8 4) 6
46. Two positive integers whose sum is 143, cannot be in the ratio

\

S0t §& Frgoste Sndo HFwond, ¥ Jopgen §od ANES* GodD

w21 2) 83

(3) 67 4) 49

3 4 25
47. 'If 8 2(27) : 5 =21 .3% then a:b =
(36)7-9%-(18)
8- (27)*-6°
.,( 4) 7 =29.3% wond o3y ah =

_(36)" -97-(18)

(1 18 2) 723 (3) 8l 4) 32
48.

Given y is inversely proportional to the cuybe of x and that y =2 when x = 3, Then the

1
value of y when x = 5 is
y o938 x Qg T8 DD SR T 53 Sotar, x = 3 wonddPk y =2 '@@;‘53953
1 . . » % ."' f
RENE. BBV x=§ BONRDBYh Y dens

1) 234 (2 34

' 4) 432
() 423 4
12-c
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and /, m, n are any positive numbers then these ratios arc also cqual to:

=
11

S =
]

o | =
ﬁ[l\]

X

e

a
éoﬁréa’ncﬁosa

| N

o |

300050 1, m, n e -c‘,S:\’J Sopgen wond WK 8ol ISt G 333@0&

|

Px* +m*y? + 0?2 I.wcz-H'nyz-!-nz2 2
(1) ( > 1z @) -

la® + mb? + nc? 12a* + nm*b* + n*e

' ! 2 2 2
Y Ix* + myz iz )2 Ix“ +my” +nz
) [ } Q) (/az +mb? +nc*

| —

la? + mb? + nc?

50.

4
If 55% of 880 is 80 more than 3 of x, then x =

4 J _
880 &5* 55 wéfo x &S° 5 S0 E7) 80 I8,S w008, edydh x=

(1) 202 (2) 303 (3) 404 4) 505

31

5%2, is divisible by 3, then the smallest digit in place of * is
erRoHn A8, ©dyd * PSS’ &0d ©8 Q%) ¥os
2 > 3) 2 £4) 0

If the number 1958
dopg 19385%2, 3 t

(y 7

52,

If the number 45135*2 is divisible by 8, then the smallest whole number in place of * is
Sowg 4513542, 8 B wrnod2b, By * Fsnes® od ©8 D) g Boag
q ’ b

(y 1 2) 2 (3) 4 4) 6
s

33

2008 is saturday, then the day of the week on 28" May 2014 is

r

(2) Wednesday ~ (3) Friday (4) Sunday

5 86 #0360 wond 2014 5 vosSdo H 28 5 BES eddy

If 4% Octobe
(1) Monday
2008 & 903565‘360 @E‘a:cb 4

o]
) G0 3) HEgs6o (4) wsbado

(1) @‘:im'ci/_____,—/\
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when the minutes hand and hours hand coincide

The time between 2 hours and 3 hours,

54.
is 2 hours x minutes when x =
2,3 ok B356° Kobrerhmoen, DENAY BNV Bexidab'd 953050 2 fobyo xIdnreand
X s
80 ()
ay 120 L () 4) =
11 3 3
55, The minutes hand of an incorrect clock overtakes the hours hand atan interval of 63 minutes,
Then the time it gains in a day, in minutcs, is
2,8 $ODA K&dSrEoes® Adnaro S0 38 63 QBT B 280 Hobw Gwiids oindlos,
SB96 2802 @ KaBoirdo Crgdd 5700, BT,
sz O 6
(1) 56— 2) 39 (3) 54 W) 48—
77 I
36. Two trains of same length 80 meters, running in opposite dircctions with same speed
cross each other in 3 seconds. The speed of each train is (km/hr)
28 269 80 Dbt Ao Boks B 28 s’ VLM @alrsds 3 PEDwst w8
oA 288 o8, & 3¢ 3o (8.20/K0.02¢5%)
(1) 66 (2) 78 (3) 90 (4) 96
577 Two persons A and B are 45 km apart. If they travel in opposite direction to cach other,
they meet in 3 hrs. If they travel in the same direction they meet in 5 hrs. If A travels
faster than B, then the speed of A, in kmph, is
G 558000 A S80S0 Bew 45 8.00. drdod® G, ath 2808 JEBE% Bl
Bosrss 3 Hobod® Eendboltrd. 36 o H3S* Hokradl 5 fobud® Seotatiotr.
B £a7) A 3fore (3c5re R, A R0E, 3o, Hobaks B Dbdd’,
(D)3 (2) 6 3) 12 (4) 15
58. A car reached a distance of 340 km in 4 hoyrs, It travels some distance at a speed of

90 kmph and the remaining at a speed of 6 kmph. Then the distance travelled with the
speed of 60 kmph, in kilometers, is _

2.8 576> 340 8.20. &r0R) 4 0L, B0, wa §oderond) Kot 90 8. Srod'sr.
RO EroeQ) ot 60 6. Brogsn 4 osnesonod. wiyd KoL 60 8.5, Sod’
Bosre30Ds Erdo, BSDLIS, '

(h) 40 (@) 120 (3) 240 (4) 300,
- -

e

14-C



Re

59.

FRESI;ERS Now

AR-2 Booklet Code :| (CC

data given ;
ad the Ja.gwen In the table below and answer questions 59 anq g
8o& '&Q}é D385 BE> TS Sss g

QD BB 59 5 L08050 60 35 Lé'ec’laéo 22005008,
= _-__-_-__-—-._._______
No. of students passing Pass Percentage

in the examinations of students

D0goS* Ga%en wand S8R wans

ge Sog DTH Tdo
360 20
520 80
540 90
20, 70
The total number of students appeared in the examinations is
D0Een | AT ghe Ingo Jowg
J» 1840 (2) 2400 (3) 3200 (4) 3650

[ School ]

UJ;U,O"U/ -:g\
5
|

60.

The total number of students who failed in the examinations from the schools Q, R and
Sis

A8 Q, R 508050 S &o0d $850e® ¢dhen 572 Indo ATghe dowg

(1) 370 (2) 320 (3) 260 (4) 240

61.

P lends Rs. 15,000 to Q for a simple interest 8% per annum and Q lends the same amount
to R for a simple interest 11% per annum. Then the gain of Q in 3 years, in rupees, is

15.000 &rrofes Fensd 8% FErdgsc Stns Q8 P oy @i 50050 o Sy
i%'*e’n& 11% srSg 58 s RE Q olym aoyd. oiyd 3 doddoos®, Q8 S
erzo, SraroHes”

(1) 450 (2) 900 3) 1350 (4) 1800

62,

000 amount became Rs. 8500 for some rate of simple interest. Then the -

In4 {lears Rs'défor Rs. 1200 to become an amount of 1825 at the same rate of interest is
period require '

(1) Syears
wdes 6000 ErTROT
8500 dorarasoen EOO

03T S5OV el - 4) é:iééégmen
4 (2) 6 50;’395‘)0‘@ (3) 4 do&’)é‘\)oﬁw 2= g

) ssosgre @ o

(2) 6years (3) 4 years (4) 8years |
ol 4 H038)0°e0 Foe SROEN ;sé'c'}é.mé a&a:&_éidg_ _Soago
3 550608 ©en 1200 srarabes, 20do 1825 grrades
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A sum of money becomes Rs. 1,08,000/- after 3 years and becomes Rs. 1,92,000/- after
9 years on same rate of compound interest. Then, that sum of money is (in rupees)

§ods @*éng}a@ WESG S’ 3 RoSBines® & 1,08,000/- e, 8050 9 doSd)dsnest
8. 1,92,000/- @oxsa. WYk & Sy (Brrdhods?)

(1) 96,000 (2) 90,000 (3) 85,000 4) 81,000

64.

A sum of money is doubled at some compound interest in 8 years. The number of years in
which the amount becomes 4 times with same rate of interest is

28 50y Fod SESFEL0E 8§ Josd)sined® Boboden wHHod. ©d BESH Bénd’
& R0y Tenfioden vIEI8 sHedS JdoIdd)Sve Nogpg
(1) 12 2) 14 (3) 16 (4) 32

65.

An amount of Rs. 5,00,000/- becomes Rs. 5,51,250/- on some compound interest
compounded half-yearly in one year. Then the rate of compound interest is

w8 Boogsn &r. 5,00,000/- Fod SESE D @S ©E0034)08 SESG §F 1gAS, o8
S0SEEK0IE &, 5,51,250/- sansh. ©LyE SESE St
1y 12% 2 10% 3) 9% @) 8%

66.

A person invested in three different schemes A, B and C at the rates of simple interests

8%, 10% and 12% respectively. The amount invested in the scheme C is equal to 225%
- of the amount invested in scheme A and is also equal to 90% of the amount invested in
- scheme B. If the total interest earned by him in one year is Rs. 48,000/-, then the amount
" the person invested in scheme C is (in rupees)

28 558 Sards Fgeh by Soen A, B 500050 C od® S63m srdssd den 8%, 10%
&Qoﬁn 12% o8 Dinwd . 2 C e DY Sckea) a0 A St DB By’
225% &' &S50 Hobckw S B & S G2ne® 90% & 33380, 2.8 SosEsw
S8, & 5588 &, 48,000/~ Zngo 3¢ 58, wis IS C&* DS Bndo (Erdobos?),

(1) 170,000 ~-  (2) 1,80,000 (3) 1,90,000 (4) 2,00,000

67.

A Bank lends Rs 30,00,000/- to a person P at 12.5% simple interest and Rs. 10,00,000/-

to another person Q at 10.5% simple interest, for ¢ years. If the Bank received an interest
of Rs. 16, 80,000/- at the end of the period ¢, then ¢ =

o ar,goén P oo 5588 8. 30,00,000/- 0 3878554 12.5% 5398, So8ai0 Q 0

§§§ &, 10,00, 000/’ o @’53"555& 10.5% 5‘%"5 hooééadé»v& Sy aiho&

I’y 5*02»‘313 £ 5r8 WS s ergo&éo dr. 16,80,000/- $& 3, vdydo =

1
e 2) 3
M 23 @ 3) 35 4 4

———_/'4”—\ i
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68. Two persons A and B undertake to paint a house for Rs. 54,000/-, A alonc can paint the

hous¢ in 40 days and B alone can paint the house in 45 days, A and B along with a third
person C complete painting in 20 days. Then, the share of Cis (in rupees)

A 00050 B sy G Sg83e0, wé o8 Soid S050TR8 6. 54,000/- w8 wBTYE.
Aad © DI 40 Sarost Bobrod, 50050 Bagd © 533 45 fwes* dabiod.
SorS 558 C o0&, ASobasn B o, Rot38 doi Sahdsn 20 fared &g DT,
oBd, 8 FINS* C BwY), o (Errched’)

(1) 6000 (2) 5000 (3) 4000 (4) 3000

69.

th

1 -
A person A takes 7-5 days to finish g of a work then the number of days required for

A to finish the complete work is

5 1
a8 558 A ¥ S 3 3 S0y JAN 75 S g Bodred. e Jugo VI I8

B8 A 5750028 Sare Sopg
(1) 9 2) 12- 3) 15 4 18

70.

n complete a work in 20 days. B and C together can complete the
s. The work was started by A and he works for 8 days, then after
nd C completes the remaining work in 22 days. Then the number of
to complete the work is

29 20 Sweos® Frodooied. B $5008» Cen 50D 233N
D AInGennid 8 Saren 5B, SSd 11 Glaven

9, 22 Sweos® Cird M. wIPdd, 6 A Cugd

A and B together ca
same work in 24 day
B works for 11 days a
days required for C alone
A 508050 B e 890 28 D
24 Serods’ ?’.g)'“giﬁoﬁoﬁpda. e B
B 503, © Soad DADS IR

5r8 Bodwds Sodd Owe Hops

ork in 40 days, A sccond person Q can complete the same

1.

Jete a W
A person P can comp Q work together for 14 days and then P goes away. The

' th P and ;
worl; , 3f5 ddzrzst'l't}:toQ takes to complete the remaining work (8
number of da

40 Swes' Fidobhrod. vd 90, Qud 88 Sg§

g HAIN
P ut fsf;;a;ﬁo@. P, Q o0 BEK EOY 14 Glapen S WHI SRTS, PIQasrd.
e 10+ (3) 3 @ 8
@ 107 2 -

1 :
1) 12—
|
17-C
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Twenty men complete a work in 16 days. Twenty women complete the same w.ork in
18 days. Ifall these men and women work together, then the number of days required to

complete that work
2 € 599 20 508 YHes 16 Faros® DK, ©3 HAN, 20 2008 Qe 18 e’ B
& H6en, R BVoSEr §OD HITR, & A JY BoHrs sm5edd Gwre Jopg

1 8 1 8
= L3 3 E N RE
(1) 103 (2) 917 3) 915 (4) =

73.

A person A can complete a work in 15 days working 8 hours daily. A second person B can
complete the same work in 20 days working 7 hours a day. If both A and B work tggethcr,
working 7 hours a day, then the number of days required to complete that work 1s

28 538 Aa DA S8 § owren DAV 15 Sarerds® Jro Bobie. ¥ HA Bodd
558 B, ar8 7 otaen 338z 20 Sared” rodohred. ASdckn Bagd §0d a8
7 fotaen HIVD, VB © HI YFHBeHEIE THOVS Tare Jopg

5 3 6 1
(1)' SE (2) 9E 3) 9B (4) 10Z

74.

Two persons A and B can do a work in 24 and 30 days respectively. After working together
for some days, A left. B finished the remaining work in 12 days. Then, the number of

days that A worked is
GG Sg8en A8050 B e 2.8 DI, S8 24 &'2ren Sr0csw 30 Sares® FroRchKe K.

386> 0D FR) Geren DABS SHTd, A I@FSrd. B 20D HAD 12 Feres®
BB, w3k ADIBHS Saren
@ 3 @ 9 (3) 10 @) 11

.

_ A merchant marked his goods 25% above the cost price and then allows a discount of

1 5:%.' Then the profit percent in this transaction is

28 5_c§§oc’n 83 SHhod FHIo §37) 25 Fdo D8 I (HEBod AR 15 TEo Ay .obo
Q. & rFraIS’ IS erdTEo |

76.

(I_)__;,;G:Z.;_ X (2 10 3) 12% 4 15

TI}Z I;;ﬁ:ﬁgg ?hseuti;llg 3fil~':lﬂi01e' for Rs. 2500 is equal to 7 times the loss if the same is
so e :«’J. 2 g Oen © Sl price of the article, in rupees, to make a profit of 20% is
28 5%23 ;;;Qg i Bi:fﬂi; OFT Bo>a0d ergo, @ 329 & 2100 K w8y do
aye &5 3% BErS0. 6y e S5y 20% oo FOSTIE © THH
oo SedS 6, Crrabodt, J WP 20% erelo To TSR

{7 & T ®oasn @ 260

18-C
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A shopkeeper sold an article at a certain price. [fitis sold at 80% of that price, then his
loss would be 8%. Then, the profit percent at the original sclling price is

o8 SFRTRW, 28 $HHH Fod $88 vdT . & SNHD, s GoS* §0% 5 6 20)8
38 8% $H80 Sdy08. WA, WIS W WS SOS* SIS erefr

(1) 20 (2) 16 3) 15 4) 12

78.

A person A purchased some pens for Rs. 350 and sold them for Rs. 450. Another person
B purchases some pens for Rs. 540 and sold them for Rs. 660. Then the difference between
their profit percents is

a8 38 AFQ) P 350 drnesd §R 450 Srnoso @:ﬁ})&a’d:. 56’8 538 B 83
e 540 Eriess £ 660 drarodhel wl0ed. T8 erFree DS Ho
400 200 200 200

= @) = @) = @ =

19

2
A person travels 3 of distance x km with a speed of 4 kmph and the remaining distance

with a speed of 5 kmph. If the total time taken for the journey is 56 minutes, then x =

2
28 598 x 8.0.08° 3 S0 ErorR) Kotk 4 8.0 Bod'Sr, WADS SroeQ) dobd

5 8.5, BKo& S Hosrdomrdd. Ingo @aSrerd8 56 ddoren 80808 x =
(1) 2 . @ 3 3) 4 4) 6

80.

The nearest year after 2000 having same calendar as that of 2000 is

2000 poS&y8o ST5S ed 200030085 o 3D HosH)60
(1) 2008 (2) 2016 (3) 2024 \/w/zozs

]1

oinat 1’0 clock, two coins at 2°0 clock, 3 coins at 370 clock and so

A person put onec _
he number of coins he has put in the box between 6.30 AM and 6,30

on, in a box. Then't

PM in a day is
o 558 Hiiacso 2ol oL 28 TE°R), ok Kobreth Bot THOD, Jardh Kobosd

Sody TG TS € dearys' BT, wEG' et adabo 0.30 M0d oo 6.30

568 eyt o 0D TETE HopE

(1) 25 @) 42 3 60 \/@ 78
/———"’———\‘ : .
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The following diagram shows the expenditure of a company on different heads A, B, C, D, E in
the year 2018. Based on the information given in below figure answer the questions 82 and 83.
2018 5 $05E)50e" DA Been A, B, C, D, E 0D .8 §00d Bwg), piye dSoroid & 808
Qgo Br8'od. IS ISrEo wrdor 82 5 So8050 83 S @Hok JSrrTdSied.

82.

RGU

If the amount spent on head A is Rs. 90,000 more than the amount spent 0171\'(3, then tlﬁ,
amount spent on E in rupees is

56 AD wdBns Iudo, 58 Cp wd 308 Iwgo S 90,000 & I5,38, 563 B
DS 2Ky, ErFrcdy, ]
(1) 95,000 2) 1,00000 &) 1,05000 4) 1,20,000

33.

If the amount spent on B is Rs. 1,96,000, then the amount spent on A and E together, in
rupecs, is

5 B B8 2dy) 1,96,000 & ©ond Hen AS8ain EwoBodold D 0D Bk
3o, drdrabd,

(1) 3,92,600 (2) 4,08,800 (3) 432,600 14 4,65,500

34.

A dealer gets 10% of profit after giving 10% discount on the marked price of an article.
If the cost price of the article is Rs. 9000, its marked price, in rupees, is

28 g0 f S0P Boof), PI8E Jup 10 8o A0 )& SHa8 10 7o ogfo
oo, ¥ 3P FIHIe 9000 &ri wond, d WELY o, rFddos’,
(1) 10,800 (2) 10,890 (3) 10,900 £4) 11,000

By selling two items each for Rs. 600/- a trader gets 10% profit on one and 10% loss on
the other. The result in this transaction is
(1) gainof1%  (2) lossof1%  (3) gainof5%  (4) noloss,nogam

Bod SHHedh u8) o) & 600/- & ey, 28503 10% erdo, 508 10% 390
SHod. & oTde 2980

(1) 1% oo é) 1% $%0

(3) 5% erdo (4) et S, S3dr B

20-C
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6. Consider the following statements.

A. If the radius of a sphere is increased by 8%, then the percentage increase in its
surface area is 20.86.

B. Ifthe side ofa cube is increased by 12%, then the percentage increase in its surface
area 1s 25.44.

C.  Ifthe radius of a circle is increased by 16%, then the percentage increase in its area
1s 34.56.

The correct statements among these are

(1) A,Bonly (2) B,Conly (3) A, Conly (4) allofA,B,C

80d BISTen H88B0504.

A 28 B¢ o5go 8 T80 206438, o 53080 FTogeS” DHHESe TS0 20.86.

B. a8 Hodo @éb Zozo 12 Tdo HOAS, T 43088 Jregos WoHDEL
g0 25.44

C. 28 $5E ogdo 16 =80 20A8, o 3Tog0s” DG T80 34.56

& BISTS DI

() AABSsd (2) B,C3gd (B) ACSS8d @) AB,Cex

4

iy
2o
s )

87.

The area of the regular hexagon of side 12 cm in square centimeters, is
12 20.20. ghzorr Ko ¥ 2dy2 3Tog0, BE6H Doddbgs,

(1) 21643 2) 36V3 3) 63 @) 14443

88.

The area of a rectangle is 6 times that of a square. If the length of the rectangle is 16 cm
more and the breadth of the rectangle is 8 cm more than the side of the square, then the

perimeter of the rectangle, in cm, is
2.8 BE TS TOFO! 2.8 SE6EH BT HE 63k, SEEP0 o FEYST) SYSHIse

353 16 0.0, BEBSHSE0 36 8 0.2, aé%écma u B SdSRo NiRSed,

20.0.06°,

(1) 40 '(2) 8 3) 96 4) 80

39.

A rectangular wood

piece of dimensions 8 ecm x 6 ¢ x 5 cm is cut into picces of dimenstons

3 B R 3 - i- cm. Then the number of pieces are
4 8

8 o.By x 6 o. ¥ 2.0
" l_ 0.0 Foden Ko Sng eorr 5. ssubjda G Ju% o Dopg

7 (3) 29 @y il
(2 _@,2,,———2-1—(:—2____,#

5y Fodefio wg E&q;;na-g-d@ ge:‘éémig,:&:

5
i oh:xgraob’
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If a right circular cone has height 56 cm and base radius 42 cm, then its curved surface

-

area, In square centimeters, is

')')}
Take 7=—
( ! 7

28 vow 5FAD Yoo Gng), I8 36 Do.d Dockn rag@do 42 Po.d GoXB Ty,

S ITogo, WIY DoBLges®,

22
[;r= 7 o (‘30’2&35‘0&]

(1) 1320 (2) 2640 3y 4620 (4) 9240
91. The cost of a fencing around a circular field at the rate of Rs. 45 per meter is Rs. 15,840.
Then the area of the field, in square meters, is
(Takc .72'=2—2-]
7
w8 3T 6Y .‘Egco Sodan &K 45 & BEnS 0B Boﬁaga‘b%&ing P&y +5:840Tn
wond, & é‘.o dTego, S$86Y ﬁ)oéagé",
(:r= % m é"m?o&]
(1) 9856 (2) 4927 (3) 1408 4) 2816
92. A wheel makes 60 revolutions in covering a distance of 990 meters. The radius of the
wheel, in meters, is
2
(Takc 7r="—2)
2
990 baéa&ﬂ Srdo FST8 wEBEo 60 ey B0, & B a‘gﬁ*go, h)éagé‘
(JZ'=2—72- m és&:g‘o&)
(1) 2.125 2 25 AB) 2625 4) 275
93. The volume of a cube in cubic feet whose total surface area is 486 square feet, is

486 3689 wdfe 0TSO ITogar Ko o8 o Bog), WIHOIrmo, WEY

wes”,
(1) 216 (2) 343 3) 512 A 129
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94, By what percentage should the radjus of a sphere be increased so that the volume increases
by 200%?

28 AP ¥S SAng), DIB8Sr0 200% 28mreod ool a*g@vo;aol owrd)d Tdo
M (B-1)100 @ (VB-1)100 @ [(¥B-1 4 (V3-1
4)

95. The length and breadth of a rectangle are 100 cms. and 60 cms. If the length increases by
5% and the breadth decreases by 4%, then, the error percentage in the arca calculated
from these measurements is
a8 BYBRERS0 B, FdH, 3deoyen 100 Do, 60 Do.do. FEH Feds
5% 06008 e, SaBc50 Sden) Fods® 4% SSH%de God, VIYE 6 Fododdariod
KeBoDS e BS BESHD Progins® SaTesn
1) 1.4 @) 12 3) 1.0 4) 0.8

96. The sum of all two digit numbers which leave remainder 4 when divided by 11 is
11 3 zriowsm 4 3h0 $) dokh wose dopge Ingo
(1 15 @) 92 - 3) 400 @) 428

97. Ifin a leap year, January 8" is a Sunday, the day on August 15" in the same year is
(1) Monday (2) Wednesday (3) Fnday (4) Sunday
2.8 &Y BoSd)Boes® 2550 8 BhT B0 wand ©l Josd)Bos” Brly 155 B8 edbgbia
(1) Fabo (2) exngardo (3) HE=Yo (4) wdz8o

98. IfA earns 50% more than B and B eams x % less than A then x =
B g0 A, 50% J8,5 008 R, 30650 AgoB B, x % S5 5 DorsE wlyd x =

7 l
(1) 663 @ 333 (3) 50 4) 25
99. The largest positive integer k such that 12* divides (109)! is
(109)! 12X Do erhoBénd) A0L &S dpooto k=
@) 50 2) Sl 3) 52 (4) 53
: ) ..
100. The number of positive integral divisors of 37800 is

37800 Qg &5 TS TET 03
(1) 24 oK) 9% (3) 120 (4) 180
_/—,/—_v_

23-C
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In questions numbered 101 to 111 pick out the odd thing among the given items.

101 8008 111 368 Somgen Ko BHost ad)d FES* K0T Q) Jobs Habod.

101. 15,35,589, 143

() 99 2) 143 (3) 35 4) 15
102. 56,34, 14,7

(1 7 . (@) 14 3) 34 4) 56
103. A D,LDTY

i | 2 P @ T @ Y
104.  9,49,81, 121, 169, 289

(r) 49 (2) 81 (3) 121 4) 169

R T,
105. ZA, YE, XI, WO, TU

(1) ZA (2) XI (3) WO #) TU
106.  343,1331,2197, 4913, 6859, 9261

(1) 343 (2) 2197 (3) 6859 4) 9261
107. 1156, 1444, 1764, 2430 |

(1) 1764 (2) 1444 (3) 1156 &) 2430
]08. Beetroot, Brinjal, Carrot, Potato

(1) Potato (2) Carrot (3) Brinjal (4) Beetroot

HESErES, Sosa, §°§8¢E5, 20mF oo

(1) womrgdrod (2) sgo8s €3 SosadH (4) 5SS
109. Reservoir, River, Tank, Watershed

(1) Reservorr (2) Watershed (3) Tank (4) River

serdoho, 358, DY, TLEab

(1) werdo®o (2) To6us 3) 3%I @ 86
110. 21Y23X, 13N15P, 9I11L, SFTH %

(1) SF7H () 9L (3) 13NISP @ 21V23X’

ﬂ
111, TOT2, UF0B, VEZ2, ZA26
C ZA26 (2) VE22 (3) LOI12 (4) UFO0¢
Ly PR P -

24-¢
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f7 quESEINS mus .’:a‘"s,d 112 1o 114 you find on the left 140 tems/group of letters which have
2 selation between them, Fi :!! i..s: blank on the righy with one of the options given so that the

ey goTp ol "'t'f'n on the right have the same relation 2 the first two.
312 foo2 14 2550 fe -g_se:‘ LALIEG uE funeho §0 Tud Lredlesl B5Nmahod
BT, wi o ,/3-;‘?,-. Z s AR Loreslegd Linmchol 63 =& reodnE
28 w50 S0k wimin Luid Lohuh
112, FILSS ;40 50 MILK

(1} 45 (2) 40 %) 55 (4) 60

= -

113, MAIL PIUN: cTOUR:

(13 VUIR 2) WUET oY (3) VAR . B) WAET
114, CAST : 43 :: RIPE: B

(1) 36 (2) 46 J5) 48 (4) 56

115. Chewse 2 suitzble option to fill in the blank given below:
Schonl : Head Master -2 College @ Principal o2 University :

(1) Covemor (2) Chancellor

(3) Vice-Chancellor (4) Director

G ok gl Phuitoss 426 wipflnd Jows'od

Sl GoIPryEis Saadhs 2 BOTO [ @IS ¢ DEDTgediedn
(1 6:’.:;’;5 (2) éuvaé

%8 4) tBomebilh

116. Choose a suitable option to fill in the blank given below:
Amritsar - Golden Temple 22 Ajmer: Darga :: Hyderabad :
(1) Chanminas (2) Macca Masjid
(3 J Golkonda (4) Falaknuma Palace

""ar'a Jﬂco,-’..i‘é.i “3;5 Pl ngamggg JOL&B?O&

-

Pad~loarmi -
) Hosy, DR
(4) peEssdr IO

, ;gag Awoie o w210 1 OO

25.C
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117. Four figures arc given below. The next figure IS
ooy ©°5)e0 1806 BSAID. D ST STy FH0Y

A

A /
(—%—-){-" /7?" .\“ —X%—>
| 27v 5 N
@) | jZ) ]T\ 3)

j

.
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In problems 118 and 119 there is a relation between the left two figures. Choose a correct
figure from the given options such that the same relation exist with the two figures on the right.

RHeo 118 H8ckn 119 ©S* AES ©BE), ad)S Bot T I $oEg 2.8 Sowodin &¥)d. LAY
Q) Boh FENS® T DowoEsn wodditn w D°5010 NS pYFre Hod JowhEod.

sy @

)

@
N/

(2)

w0

AR
_(7{ __ & @ AXE@)

3)

20

\/(ﬂ)

o A
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FRESHERS NOW

AR-Z Booklet Code : C

Answer questions 120 to 124 based on the information given below.

In the figure given below the triangular region denotes the persons who read newspaper A. The
circular region denotes the persons who read newspaper B and the rectangular region denotes the
persons who read newspaper C.

Bod adyd Gezodo wgrdor 120,508 124 HHe 68 dSrmaes @obod.
& BISS a)d HLod* BLhers s HBdo T B8 A S8BT drD0B. H)E:EE BBTo
oy HP8 B HOITO BrD308. SodoS0 &8, S ERrs8 (P90 ooz HB% CR SO3T°0Q

FSUTATSICTAR
Pr

10 o

e
A R
20

120. Number of persons who read only newspaper A is

T H88 ASrgd SBIT0 dowg
o) 30 2) 47 (3) 54 (4) 69

%

121. Number of persons who read both newspapers A and B is
o H@%e0 A$6050 B @2 00808 IOIT0 Doy
(1) 45 2) 22 (3) 32 @ 52

122. Number of persons who read only one of the newspapers A, B and C is
A, B %8050 C g; Hi@80s D& 2,48 SrSD> 383 570 Jopg

() 120 @ 135 (3) 145 4) 85

123. Number of persons who read all three newspapers is

Sardy oo BT $637°0 Loy

124. Number of persons who read either newspaper B or newspaper C 1s

o 588 B S0 oo H@§ C a3 50 Jopg
121 (3) 219 ) 14) 174

oy M- W
27-C
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oo A 3. X5 O 8%, Sclga=n
~ Conw ™y S f aeDste owY ¥« - AR ALy eyl
N 3 ) R el 228 ‘@'ﬁ:b"@vgf"
S
= - » - - r -
ot e 322 13A6VV 2=
—

3) 2 )1(4) 12

178 F

126. From point P. 2 man rides a cvele 9 km towards East. Then, he rides the cycle 2 km
towards Nerth. From there, he rides the cycle 3 km towards East. Finally he rides the
| . -t T : " .
cycle 3 km towards North to a point Q. Then the distance between the points P and Q is

28 358 BodsP PRood, Srsn3s 95.2. 2ES SEyed. 808, 68550358 2 8.5
S = e

288 S o, 598 ol HEBLS 3 8.0 PES S e, 0565, S45503984
g

38.50. 38S 55, Do Q35S Shads. syt DohPes Piscts Qg drsss

§. . wSY):

a)y 17 ) 13 (3) 13 4) 12 .
1
g

127 A person walks 3 km towards East. then walks 3 km towards South, then walks 7 km

towards West and stops. The distance from the starting point and the end point is (in km)

2.8 358 SrEnED 3 8.0, S, SHTE 3 5.20. B82030TY St ST HESEIIS

7 5.5. 389, sadiadh. oI5 S8 Fodes DES DodD Sl 348 SHBDS DodoJo
'-;‘SacSS’CL“CSSS:a (8. . o)

M s Q) 7 3 9 # 13

e

128. P+ Q means P is the daughter of Q, P * Q means P is the husband of Q. IfP + Q * Rthen
which of the following is true?

() Ris the mother of P (2) Ris thesister of P

(3) Ris the mother in law of P (4) Risthe brother of P

P+QuoB sgo Q§ %503 P, P* Quod sgo, Q8 g P-FHU7 Kgand S
§0d 8S* 28 $8g0?

M PsSaR -~ () PssdR

(3) PsegR (4) P8 e R

=%
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129. Which of the three figures from the following five figures A, B, C, D and E form a

squarc?
& o6 asgwas o8 sbsnes A, B, C, D300 Eodtd Sk stiwes o8

SBHGRS08 50800?

RRRANE

(1) BCD u&) ACD (3) BCE, (4) ABEg
130. If the paper in the following shape is folded to form a die then
58
2134
JjEH
6
a) |1 lics opposite 6.
b) 2 lies opposite 4.
c) . 3lies opposite 5.
Then the true statement(s) among (a), (b), (c) is(are)
(1) bonly (2) aonly (3) bandc (4) aandc
S 5089 2§ FOEm DS

& 1808 Erd0e5t Ko DI

4]

O\lUl lad | —

a) 18 a6 &odnod
b) 28 dgodor 4 &ot0od
) 38 dsodm 5 ool
oy (a), (b)s (©) o’ a’:ég_@ﬁﬁ:‘ﬁ:&}(m)
(3) b&0a0C

&8
/)j g () aiER

29-C
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131. Among the given four options, which one when placed in the blank space of given figure
would complete the pattern symmetrically?

aﬂaé H830e5° @ "{gvoef 8538 aarjé Te0id m&aééwe;ﬁs 899 ©%8 & Jbo
Fadomr rdydoed?

(1) ) €) 4
¥ (4)

132. If the image of a clock in a mirror shows the time as 6:30, then the actual time shown by
the clock 1s

wdod® u¥ KAasrdo G0, B8Dowo HHSrA) 6:30 m SIrB ey ¥ AR
SorDod wdHen JdHcdho

(1) 6:30 2) 9:30 BG) 5:30 @) 2:30

133. If P is the brother of Q, Q is the daughter of R and S is the father of P, then how is R
related to S?

(1) Husband (2) Brother
(3) Wife (4) Grand father
Q8 P&rsdd, RS %300 Q, H08c%0 P8 Soid S wond wdHyE S8 R Q%09 &8?
(1) &8 (2) P
(3) w3y (4) edms
134. If A is B’s brother, B is C’s sister, and C is the mother of the boy D, then D is A’s
(1) Sister (2) Brother (3) Uncle .o ° (4) Nephew
B @xg), A, C &ng), 60 B 508050 erendd D @), €9 C, ©®o08 wdyd
D, A&xE),
(1) a8 (2) DFEEE By SrdocSgi A (4) wRega0

30-C
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135, 5howmg_ a lady, a man said “The son of her only brother is the brother of my wife”, then
the relation between that lady and the man is

(1) the lady is a sister of the man’s father-in-law
(2) the lady is the man’s sister-in-law

(3) the lady is the man’s mother-in-law

(4) the lady is the man’s sister

o8 358 &8 99 SrHdr “uD> JFE FEHI FLH & TR Tk oot Tk,
sowd © 98, 3588 Hdg Ko Sidlo

) = Eo. © 3588 Sromd S0

Q) = Q © 3588 553 B8 Soseo

(G) s Ca; s 3588 edmd

4) o R s 3588 68

Read the following:
Six students P, Q. R, S, T and U sit on the ground at the vertices of a regular hexagon. Pis
neither adjaceny to Q nor R. S is neither adjacent to R nor T. Q, R are adjacent. U is in the

middle of S and R.
On the basis of the information given above answer the questions from 136 to 138.

§od &R I fabinNEbk
sSHhd JTgien P,Q.R,S, T 38050 Ues Zep o8 $5 &dn2 Sg), 2630 38 BB 6.
Q8% RokH 9§,S PE&. RSE T ok 09,5 S8k, Q Rew BEHE8S &7 S,R o 03

U ssanc.
o wSredo sodor BHeo 136808 138368 sirzrer ads.
136. Who sits opposite to T?

T& d&sm J5& SrdyT®? |
o0 3) R A U

(1 S
137. If one neighbour of P15 T, then who is the other one?

P8 ¥ 5§ T &o3, 933 Bl B¥,S &ods?
“H) S 2 R @B U . @ Q

____.—-—‘-——-—-._

31-C
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13S. Which of the following is not a pair of neipghbours?

(1) PandS (7)) Uand R

(3) QandT ) Tand R

& 1§08 8S* BR8N B zob AH?

(1) P3cdasw S (2) USodosx R
3) Q88 T (B TS0k R

139. There are 39 persons standing in a line. When counted from left to right, A and B are at
:l lh Gl ] ¥ . . g

9" and 27" positions in the line. If C is between A and B and if there arc five persons

between B and C, then the position of C in the line from the left is

30 5000 SE8IE0 L8 SEHHS DD G, D Hob HAS AB0OIYE Abak Bes
35dm 9 5 dodw 27 S ‘%‘;a’&,‘: e, C wd 558 A Ddcsn B o gy wobr,
B S08c8» C o &5 2888 ;’J,Sggenoéﬁ, WwHPE &5 SHVS* G Hod C qxg), 230
Q") 21 2 22 (3) 20 (4) 23

To answer the questions from 140 to 142, consider the following information.
Given that

U={l1,2,3..-5500},

A = the set of all multiples of 6 in U,

B = the set of all multiples of 15 in U and

C = the set of all multiples of 10 in U.

Let |S|, denotes the number of elements in a set S. Then

140 So0d 142 565 fo @Hos SEFTI0OITIE & Eob DSsEves bios'ol3
U={1,2,3,...,500},
A=US 6B0E), v Hedaro D8,

B=U&* 15 @), @) Mhedere 28 320050

C=U&*d 10 Bg), wd) federe d08

@, 2iass, [S|eIO J18 S S' BT Hopgdy KrDRERE . SNy

140. |AUB|= |

o 90 2 100 @ wo @ 120

141. |(AUBUC)|= o g
(1) 126 (2) 124 4) 120 (4) 100

142. The number of integers in U that are divisible by exactly any (wo 6?"2‘.-.3‘;5' is
2,3,5 08" pOdor BoBoBBE SrEh grpodnd U OB NOPY
1 25 ®) 30 3) 35 @, 2

32-C




-

FRESHERS NOW

f\ R*z finaklet Code ‘[(j

To answer questions from 143 1o 147, consider the following wmlosmatioe

In a hostel there are 220 students. Out of them 1035 read newspaper A, 00 reael newspaper 1,
73 read newspaper C. 38 read both A and B, 20 read both Aand €, 21 pead beth 18 amel € anel
9 read all three newspapers. Then

143 3508 147 335 So BHow ?’::1:*::‘:5:\:;6:;;3‘2?‘ & Bo8 d5JAuen S ud

o8 308 {od* 220508 Jorphes ASNIgTE TG 10300 ooy 30 AL da G,

- P G »
- ol -
A Sedada B e

90 Jocd TrTr HIBE B & SHord, 75 2od 0 98 C X dayos
-4 15 : ’ . X . o < . B ek v
Vo808 35 08 SHIord, A Soasns C oo 3008 20508 shiPords, B Sdatu €

BoR0iN 23 $00d SKBord Locks Indoe Sk U SOFOSr Y 26l Yo Leag e

143. Number of students who do not read any newspaper is

F — -~ £ 8 — e ans h as
D oo P8 SE3N dzpdiv Bowg

(1) 21 2) 20 /{-3) 19 () I$

— iz - —

144. Number of students who read only one newspaper 1§
S3co o), I 88 drPgd a3 dogdiu Sowg

A) 141 (2) 151 (3) 147 (4) 157

— - — — - _,*.r_-‘
145. Number of students who read exactly two newspapers is
pIdom o g SPse <83 Sc-‘sdjc.: wopg
(1) 78 Z) Sl (3) 64 (4) 58 .
Rt il SRl SRR, .

146. Number of students who read newspapers B and  but not A s
o S|98e B, Cen ScoHdr A SAID Jogdo wowg
(1) 23 (2 20 3y 17 A4 14

147. Number of students who read two or less number of newspapers (s
Bods B woda) 08,3 T YO S0l Jopdu fowy
vwf 192 (2) 20 (3) 211 (4 189

W45} In a college having 600 scienge students, 450 srugents are domg Physies, SO0 students
arc doing Mathegalles and 400 students are doing Chegoiy Urﬁ':s‘_fc students 80
students are doing both Physics and Mathematies and 350 students are doing Phvsivy and
Chemistry, 200 students are s’l‘ud}'llm ill! three subjects. Fhen the sumber of studtents
doing both Mathematics and Chenmstry i |
600 o0 Dimi T DEEEEN LR Bvgogt, 450 Dol 30GRW T ey,

500 S50 2 ER? 38 ©io 54?@ *:"(l Dol drgw ﬂif?i%;ifgu ST HIG

& Dergdyest 380 500 DTEYS 08 PR S0t ddde BuAVED 190 5198 e

FTOE 00050 b g
iyt KeBdo SO giradai TAOMW Dobdusly god 25§RY fl’f’ 5220'

) 20 &4 e o .
(1) 280 b, o Mo it A0 .
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A misfit in the following sequence
1682, 1683, 1684, 1685, 1686, 1687, 1688, 1689, . ..

& (§0B EFQS° J/IFRG
3V 1% ™
1682,.1683, 1634, 1685, 1686, 1687, 1688, 16§9, s

(1) 1682 (2) 1685 3) 1687 (4) 1689

_ In the following figure, the regions 1, 2, 3, 4, 5, 6, 7, 8 arc shaded with the colours

Voilet (V), Purple (P), Blue (B), Yellow (Y), Orange (0), Red (R), Green (G) and Maroon
(M) respectively. If the figure is reflected with respect to /, and then reflected with respect
to /,. then the new order of the colours in the clockwise direction

Bod SrdS Lo Pdren 1,2,3,4,5, 6,7, 8 ol S63m o Sord (V),

e

Sosas Sorb (P), Deo (B), 5% (Y), 80w (0), 363 (R), &5y (G) 508050 Do8rS

(M) Sotes® 0D8. & H¢r) 8 /| thoa SorddHo DD w6 /,hor Sovddso Ty FEm
S8y SofHe (ESoo dSg HIS®

(1) ORMGBYVP | ) ORGMVPBY
(3) YORGMVPB 4) VPBYORGM

- The population of a town at present is 3,00,000. The growth rate of the population in

; : | 1
0 .
successive years is expected to be 6%, 7“2‘%, 9%, 10—%, .. of the present population

The expected population at the end of 8™ year from now is

Q

I 1 '
sEor 6%, 7—%, 9%, 10—=%, ... m I
Yo, 1 5 Yo, 9%, 1 )57 ﬁocﬁé%éﬁ@ TANTYE. 8 Do) 8B Soes

SETS' SHIM HRoe araeer

2T oW T

(1) 5,70,000 (2) 5,50,000

— ___©) 530000 (4 5,110,000

_---‘-"-'-—-—___——
34-C
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PRV the starnents given below
D The s of the taterior angles of d regular pentagon iy $40°,

e o4 - A
W Bach iterior angle of a regular polygon otz sides is Ll - --] x,

CUS TS R D L R "

(£

Thon
QY (D and (D) ave both trwe () (s e but (1) is fulse
S (D) s talse and (1D s tae ¢H (D and (1) are both false
So3 ERSTel dRdoNed.
D o8 ©% Sosast seddFare dude 0%
- - \:ﬁ\m\ A TR L g
: p)
3 - - s a3t o4 a2 PAE) Eo ‘id&ew‘) l....:. Vid
I nores de of FE ey W $odos e ).
RIS
G (DL (D 2 Do $850 Q) (D¥Sg0, (1D wdSgo
3) (D edggo. (IDRege h) (D, (1D w0 TBoder wdSg0 -

133,

154, When thicty persons stand in & Tow the positions of A and B from lelt are seventh and
5 7 irts b Q. . = il )
A SREAL S nth respectively. Another person C standing between them hus exactly five

< F.‘.\!c N : H by L 1 " (Y N
oventy s€ enBand C. If P18 the middle person among those stunding between A and
L LY . S

persans betwee
C then the postt
533—‘323&05 &g ad—‘ d)
=253 Das FTL VW
;)a:: & A.Cﬂé‘i’mna

SRR @ 13 G3) 14
(h 12 Ve

35-C

ion of P from the leftis _ |
o5 QORET SOME® A B o $gigee ASHPY S0 Shidm a5,
C a0 SR Regyy C 8 B 8 _&:52253 cierp; R Sgigen
¢ $58e; P.ﬁgcss 558 ot AEIY Sod PRy Sopg

4 15

——
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same as the cost of 5 pencils. If it costs Rs. 34 for buying 4 pens
st of 7 pens and 4 pencils (in rupees) is
4, S0, T DY FOEAS 6. 34 wond

155. The cost of 2 pens is the
and 7 pencils then the co
o, 5D Dok JETI0.

2 D 3
7 20y, 4 QYR B SLrAEa0g PAY (ErraeS)
(1) 74 @) 47 3) 43 4) 56
S
10 pm reaches its destination at 2:20 pm the same day. If

156. A train starting atd station at 1: ' '
the speed the train is 48 kmph then the distance (in kms) travelled by the train is

€ S5 1:10 pm 8 2030808 geo KBogpa 8 wuber 2:20 pm 8 Bre08. &5 B
Sﬁowﬁob& 48 8.5, @o0d @b [POSTe0 393 Sr8o (8..08°)

(1) 60 @) 72 3) 84 @ 56

157) A
end

[Take T = —2-%}
7

€ domy 3§ Grdost &X) AHTH A8 14 20.2. 0 DS Fgred 4 0.0

water glass in the shape of a frustum of a cone of height 14 cm. The diameters at the
s are 4 cm and 2 cm. Then the volume of the glass, in cubic centimeters, 1s

22
28050 2 0.0, ©I}H & T D8HBSe00, PO '?ooéf)ﬁ)géggej‘s (TE = 7 m @"mg‘o&)

% 5
(1) 78} ®) 92_5
1

B
P 102 @ 1063

J

158. The students of a‘class are standing in some rows. All the rows have the same number of
students. If 3 students are added in each row, then there will be one row less. If three
students are removed in each row, then there will be two rows more. Then the number of
students in the class is -

a:é édﬁi?ej‘.% Dcs“gdqg)w ) SHdosS R)u:r)a:l&. ©) S GBS DTS 503356_‘ Z)a‘gt%wagd:.
©S D638 S0 Dm“gdcge.};&a 008 28 Sy 8515008, Hd S%v% So0tHdd 2)(‘.5‘36({3)&)&'53

i n
- BA Both Shiden nKETo0. & S8K8ety Syt Soms

(1) 18 -@)j___.\f_’) 7 @y 4

e

36-C
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GDP growth rate of some countries for two years 2015-16,2016-17 are tabulated below. Observe
the table and answer the questions 159 and 160.

Bodd Boddioen 2015-16, 2016-17 08 S0z0H0D &) d=ze GDP S)BOLso Bod HES
FodBOEEZo0n, SEE5 300D 159 Soadn 160 RHKH 655:‘5‘5‘@550&.

Country 2015-16 2016-17
%o

A 6.6 8

B 7.3 > 7.4
& 1.2 — 3.7
D 4.4 » 4.7
E 23 b 34
F 3] » 2.6

159.

The country which witnessed the highest percentage of GDP growth rate next to C is
Cdhad ©8568 GDP vhihdo 7o) 3 Siwdos) ddo
7 A 2) E () B 4 D

160.

The country that witnessed the lowest percentage of GDP growth rate is
wdgey GDP 5)58¢0d S8 B8 d¥o
(1) C @ D 3) E 4) F

161.

The number that does not suit in the following sequence is
& §0d F&S° D0TFOR Jopg
5042, 5043, 5044, 5045, 5046, 5047, 5048, 5049, 5050, 5051, ...

1 «(2) 5050 3) 5051 (4) 5048
M 5049 2) o ) 3
162, If T =_2_(;"_f_2_).,forn=l, 2,3, ... then T, =
" p(n+1)
T,=201+2 ;-1 2, 3, .. w8 vy T, =
n(n+1)
8 - 8 8 .
8 2 . 8 4 2
W 3 @ 19 . ® %% \ 6 21
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Answer the questions 163 to 166 using the following information,

Given that

1 USD =70.99 INR, 1 AUD =0.708 USD, | EURO = 1.137 USD, and 1 NZD = 0.679 Usp
(Here USD (U) = US Dollar, AUD (A) = Australian Dollar, EURO (E) = European Union
Currency, NZD (N) = Newzealand Dollar, INR (I) = Indian rupce)

& (808 JSrTEind GHArhod 163 Sood 166 588 HHO& SdreTws (Tobes,
1USD=70.99 INR, 1 AUD=0.708 USD, 1 EURO = 1.137 USD, &8a%> | NZD =0.679 USD
8 AHVEIB.

(25,8 USD (U) = ©308S weodd, AUD (A) = 5530003 g, EURO (E) = abrs’
afe=oDS (B850 (837)), NZD (N) = Srgerod @edd, INR (1) = erdsds drdran)

-

o, o
"
P le¥S TS

163. Increasing order of exchange values of INR (I), NZD (N), EURO (E), AUD (A) with

USD is
USD &' INR (I), NZD (N), EURO (E), AUD (A) o $76¢ dense wsbiirm o
() LN,EA (2) E,LN,A B LNAE (4) LEAN

164. The currency among the following which has the highest exchange value with EURO is
€ 808 TAS" oBLrd'S” wdghE SrEEY Jens EONS BS3g0 (83Q))
(1) U 2] 1 3) A (4) N

165. The currency which has the least exchange value with USD is
USD & wdgeoy $r88 dend Ko (S50 (83)

(1) N 2) A BJ E 4) |

166. The currency among the following which has (he highest exchange value with AUD s
Bod a8&* AUD & wéghs S8 SN BSg50 (53:))

I U @) 1 3) N wE

L ———

127) In a certain code if the word WRITE is coded as 136 and the word STUDY is coded 157,
then in the same code the word "READ’ is ¢ e us

a8 8'Gofes® WRITE @@ ‘JJG"‘KD 136 gy STUDY e ;5&3’3)_)'157 sy B8 a?%. zr:bjdo
w3 & ‘READ’ o Hordb B'G

() 2 @ 30 G 15 . @ 125

3.
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Lo [‘n E; i?d? I Slﬁ";'{'\a‘;‘-‘- lEIU word *‘MISTER” is coded as SGWWNS and the word ‘FOREST” is
coded ns I'L, then the code for the word ‘PERSON’, in the same code language 1s

o8 B'6 e, *MISTER 03 Slap)] SGWWNS &, ‘FORE.S,_T’@ﬁ STayy)) ‘UUHVTL,
midor §'6 Uy, wdyd ad B'6 it Hdo ‘PERSON’ & 66

(1) OPVUIW (2f OQYVIV

3) OQWVKY (4) OPWUKW

169. Ina code the letters of the English alphabet are coded by numbers as follows.
Ao 1, Zo2. B3, Y4 Cos5,Xe6...
Then the code for COME TODAY is
0§ B6S* wolf wiored Hopgod® §obd done 56 Bard.
Ao 1,Zo2,Bo3, Yol Ceos5,Xe6...
DY EOME TODAY &3x¥), §'6
(0 14,24,7,1 4,5,24,25,9
2) 524,259 #4247.1.4
(3) 5,24,25,9 12,24,7.1,4
(4) 524,259 1226154

In a certain code language HYDERABD is coded as KBGHUDEDG. Then WARANGAL
will be coded in that language as
;J Ny v

w§ €8 pge’ HYDERABD KBGHUDEDG = §6 3. odyskh o8 &rds’
WARANGAL &%, 56

170.

(1) ZDVDQIDO @) ZDUDQIDO
3) Z!_)_UDPJDO (4) _Z._Q_Q.D,QKDO

171. In a certain code language, if AGRA is coded as 1493241, then the code of BHADRA in

that code language is
o & 56 it AGRASDE, §'6 1493241, wand, edydd o §6 @as* BHADRA G,

58
¢) 4641163241 (2) 464116234L
}3) 4646113241 (@) 464324111

61 gt e

39-C
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puage, if ADILABAD is coded as 76547276 and WARANGAL ig

[n a certain code lan

- coded as 37170874, then in the same code language BANGLA is coded as

¢ &5 oas* ADILABAD &g, 56 76547276 5005 WARANGAL qws, 55
17170874 wond o8 §6 ras’ BANGLA &8, §6
(1) 271347 (2) 270437 (3) 273047 @) 270847

If the code for A is 1, that of B is 3, that of Cis 5, ..., then the code for G is

173.
g 8655 A 1, BR3m, CASm,. .., drdy odyd Gang 86
Wy 13 (2) 15 3) 19 4) 17
174. IEPRASAD is coded as 123435 then match the words of List-I to the codes of List-IL.
PRASAD & 123435 = §6 T3 wdyd =0e - 1 &' dzods =de - [ &9 §hod’
22 L:? g -
-BSDddod.
List - I List - II
oho - | da -1
A) SARADA I 132353
B) DASARA ) 314323
C) PARADA II) 432353
D) APSARA IV) 534323

The correct match is
BOGHS 54

A B C
(Hh 1. I 11
@» umoowvo 1
@3 TV m I
@ v om I I

—~ O

| o |
]

~\

175.

—

B—

If — denotes addition, + denotes multiplications and x denotes division, then
{39 x13)+6} -8= :

—J080), + Kre5oR), X armf’.ﬁm;h 20, w3t {(39 X 13)-{-6}-85 _

X, 26 (2) 62 3) 34 ». - (4) 2

e

40-C
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176. Read the following:
[n a certain code language
MONKEY is coded as LNMJDX then consider the following

Assertion (I) @ The code of FRANCE 1s EQZMBD.

Reason (II):  The pattern of the given code is A — s ;

(1) (I) and (II) arc correet and (II)&,is the correct cxplﬁﬁioxi :)\f’ (C[:)_.> e G
2) ) fmd (I) are correct and (1) is not a correct explanation OF('I)

(3) (D is true, (11) is false. -

(4) (D) s false, (II) is truc.

& 808 WSS0a:

g 56 it

MONKEY & LNMIDX r §'80f 87 & (808 o8 H0edotod

SSeso (1) : FRANCE §°6 EQZMBD.

s*de00 (II): RS wSHdGe0 (pattern) F6AZ,B-S>AC—-B,D-C,..
B (1), (1) eo Sergen, (1) 8 SB35 JH8e (1D).

(2) (I), (Il) &0 dorgen, (1) 8 S3$ DHded (I1) s~&o.

@B) (D)3850, (1) wdg0.

(4) (1) wd&go, (II) Sgo.

In a code language BREAK is written as XHUYO. Then, FLUTE is coded in that code

177.
languagc as
o€ E°6 ades® BREAK Q@ XHUYO mr (graeh. ey, & 58 ordes® FLUTE G, §6

(¥, TNEFU (2) TMDEW (3) UNFEV (4) UNEFW
If in a code language DREAM is coded as FTGCO, then CURSE is coded in that code

178.
language as
o€ 86 wries® DREAM @ FTGCO m 56 &%, eyt © 88 e CURSE &w¥), §'6
(1) EVSWH (2) FXUVH (3) FYTUG  #J BWTUG
as the immediate next consonant

In a certain coding cvery const_Engiish alphabet is coded

and each vowel is coded as its previous vowel. Based on thi
179 to 181.

8 QoA ?.’Jc‘ge".aej" =0f
S T8 $000858)
RHoLs BSrErdsod.

179. The code for the word ‘MANGO’ IS

s information answer questions

$oB0bd $5) 8T8 Feordr, B8

o BEE5rOS™ B8 T T 3
5 179 %06 181 365 Ko

SDINON G oy £5 BT, & dSrardo sFdor

(4) NUPHI

MANGO’ $d8 56 - i
(1) NEPHU (2) NBOHP ) NUOHL __ =
41-C
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180. The string of letters that is coded as ‘CDEFG’ is

‘CDEFG’ i 86 tiohag ©ftare

(1) BCAEF (2) BCIDF (3) BCEIF () BCADF
ﬁ The code for the word ‘LITMUS” is

LITMUS’ 30708 §6
() MEVNAT () MEVNOT (3 MEUNVT () MEUNUT

uestions from 182 to 191 you find a question
). You have to decide whether these statements

Data Sufficiency: In each of the following q
followed by two statements labelled (I) and (II
answer the given question.

Mark your options as
(1), if statement (I) alone can answer the question,

(2), if statement (II) alone can answer the question,

(3), if both statements (I) and (II) are required to answer the question,

(4), if statements () and (II) together also can’t answer the question.

B 0% HogHd 1 8ol W& BHeo 182 S08 191 565 Ko BB PHSSr .8 BF), TAJod Tod

BSSTen (1), (1) 2856500088, 2N @HS & PSSTe aTwdSiKeRr BE' AY Agowonrd)

&od. @a:)n'l) @3@5\3 ‘éﬁra‘waj’)ﬁwm

B3ES0 (1) S 2038 d dsrwo (1) @9,

B35S0 (1) SrEgd 508 Q ddrwrso (2) O,

BSsaen (1), (1) eo Dodr ©555308 (3) ®,

iéﬁa‘m (D), (II) © 3003 &IRFACDINEE JI3rgrssn 13BENE J ISreso (4) ©R
8o,

182. Who is tallest among A, B, C, D, E?
I) Dis taller than B, but shorter than E
II) C is taller than both B and E but shorter thar{ A
A, B,C,D,Eo¢® @8 &Erd J56?
I) Dod 58 B &6n0, S E §T) >, 2
) B,Ee &3y Co60, o Ay 3.

183. What is the volume of the right circular ¢opeo
I) Base radius of the cone is 12 ¢y ‘
II) Semi vertical angle of the cone is 45¢
©ou )30 Fopod) DoSDOIr0 oy |
D Fogod) Goofy &rTgIbo 12 7’00.2);
II) Hogod Bng, 28 Feo 450 o

- _\\‘ .
42‘C s —— .
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What is the total number of divisors of the positive integer #?
[)  nis product of distinct numbers.

II) nisthe cube of a prime numbers.

$5Irgro8o n BnE), Ingo rasiY Jong J0d?

) n .De‘i)%jéoaaso ©YO. »

II) n, 8 warag Sopg B8, olo.

Booklet

FRESHERS NOW
Uuc

185.

Who is tallest among A, B, C?
I) Ais taller than B.
II) B is shorter than C.

A, B, C o¢* wdgod FEH8 J3627
[) Bis) ARdddad,
) Cso) Bargard.

186.

What is the rate of simple interest?
) Principal is Rs. 3,000
) Interestis Rs. 450

2 $& G Dod?
) wdeo & 3,000
1) 5§ & 450

187.

Let 1 and n be positive integers. Is n even?
) mxnisan odd integer.
) m+nisan odd integer.

o Lo {5"?
m 306050 nev dégg)‘c‘éoww.i‘i?_&ﬂ@g &0 '

D n;) x p 2.& B2 DOPG: >

) R+esBRBoRy o R

188.

f the right angled isosceles triangle?

i e area o
What s f the triangle are 90°, 30°, 60°.

I) The angles 0 .
10) Length of the hypotenuse is liﬁ cm.
SrBgeraro (@EDH0 Boofy BT od?
60°-

oo 5o @

s 90530

59 1542 PO I

M ggseo T INZ T —
=" 43-C
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the sum of the ten terms of the arithmetic progression?
189. What IS
) Theh first term 18 10.
1y The tenth term is 2 2.
w08 3800 SO 4ore ddo aJod?
[) 33568 ddo 10,

H) 445 Sdo 2.

e

190. Is :\ a sister of B?
Iy Baisa sister of A
i) A is father of two children P and Q

B & A380 usydod?
)y A& B0
P, Qed add boot Adod

191. Did the person A get profit?
[)  The person A purchascd 9 bananas for Rs. 30.
[[) The person A sold 8 bananas out of 9 bananas for Rs. 32.

Ao 3388 e o Shoo?
9 wsBgS A 30 &r.of B,
M 9 :.fc’i..f:o’_' S déﬁaé\a’n A 32 o8 @;SJ';(:SJ

3 v Yot y | H
192. The nussing terms in the following sequence in the order they appear are

S 5ol F3S G000 Doen v 3T Sdhve®
519, u—u3r05 11!

1) N,4 2) 1 :
2 N7 3) N,6 @ N>
193, The missin 136 oo | -
sing term of the sequence 1,3, ¢ 10, 15, 28,361
e il °
swheio 1,36, 10, 15, .28 i
U LAY ) 18 R g i
LA N g e 4 B
= 3) 21 BB RO
e nexy bermn | :rs the scqutnccm |
heD) E.. i~ (‘; i l ‘; ':E') ; IL LO Is
(1 (} “LIEL, LO & i85 o
——l. @ 0g @ 05

e B | I iy

4d.n
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- —
Z XV
v s Ay » 1
195, The next terrs of the sepuemee —, —. —. — 5
A - ™ - re
23 s | & iz
- - w4 R il
Z X V¥V 1
,:111 {;:I - '_;: ';:", ':'_"- :::' ‘::E é‘:-’é :;fi:
A & Az =
P L7 '/ /r -
{f) .,EA £ /o 2 - 5‘:'.) E t"ﬂ B—
i A = 4 ) H

!f}f’ F!fdr(o,’ forn O & rr.;a-u.r-v' p o e ‘C.. E‘G :{_.‘_\1 is

Swd e VPP v 4-—‘.-.-—.-

I ol 3 -

. £ 4 A

Laid B sietn !J, ‘»‘(._ | ( L .p- t'r € P iong ] .-_-/—
-

(1) © 72) O (3) P @) R

R

O

=

cuestions from 197 to 200. In the figure given

[“f”-"‘! em the below inf fonmation answer the L-

b»;}uw the square region sepresents post-graduates, the rectangle represents graduates, circle

resents private employees wh hile the triangle c;:re:enb Government employees.

2 200 244 fo SHess 57 93508, 808 Sos
T

b -
G5 BEFo ShTiteed, 580 @35 &G gibo

Bul HLCC wodorr 197 “ic

=t ; ’
o 4 r ] o L F - - pnin > =
E-J‘}t‘d'h‘l -0"-’.-‘ 'lqujﬁ .__3. w.‘-:h,:-d A % & S =
o a R
# /5 o o thm Ll e300 Tzl G0
oy W'}«n] ‘{jz.ﬁ oo ‘;:#;‘3:) -3-1';’( Co0d0 fws batee

§ rcprcscnting non—graduatcs'employed either in Government or private
197. The rcgion/rcgl(m-
e (3) - 2 and 9
¥ ﬁsﬁw TR eo..:zs@m 5 702

S B e 708 @) yupand @
e

4) landl0
40D [PRFS8N/DBTen
1 S8050 10

2 2
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198. The region 4 represents
(1) Graduate Government employees

(2) Graduate Private employees
(3) Post-graduatec Government cmployces

(4) Post-graduate Private employces
Bddo 4 JrDoBb

(1) dHFS Ry & gloed

(2) HLHE (PI0 &&gben

(3) NIE'ES 2LFE ©HFES G &groen
}'4/)’ @55‘55,6 :3_%_2_5_@ C‘ggié.w & Gigren

199. The regions representing Post-graduate unemployed are

2 S6'88 HLFidos DH S o drdod @Froden
(1) 5,6,7 2) 5,6 3) 67 A4 5,7

QbD. I, 5, 7 and 10 together represent
(1) Unemployed graduates (2) Employed graduates

(3) Unemployed post-graduates (4) Employed post-graduates
1,5,7,10e £OD drdoidd

(I) D DL )
IJ’J/ "5 FSE'ES S0 (4) S5°88 & ghen

HHFE &Egroeo

46-C
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